SUSSIVE MUSLIM EDUCATION AND PINET PRINTED TO A SECOND PRINTED TO

GUJARAT

Regd. No. E/2343-SURAT

ANNUAL REPORT 2010-11, 2011-12

Progressive Muslim Education Trust, Gujarat

C/o. Manubarwala Haji Daud Munshi Memorial Hostel, Gulistan Nagar, Juna Jin Road, Rander, Surat-395005 Tel. No. 91-261-2762685 Web.: www.pmet.org

E mail: <u>pmedutrust@yahoo.co.uk</u>, <u>pmedutrust@gmail.com</u>

BOARD OF TRUSTEES

Yusuf M. Lat	(M. Ed.)	Kavi
Suleman A. Patel	(M. Ed.)	Kamboli
Muhammed V. Patel	(B.Com)	Tankaria
Ibrahim A. Patel	(Businessman)	Sansrod
Hafiz M. Shoeb I. Wadiwala	(M.Com. B. Ed)	Kantharia
Hifzurrehman A. Patel	(B. Sc. M.L.T.)	Devla
Ilyas Vali Patel	(Sr. Clerk)	Bhadkodara
Faruk Daud Patel	(Computer Instructor)	Khojbal
Jabir M. Choksi	(Civil Eng.)	Kavi

OUR MISSION



To help students grow into proud, self-confident, self-respecting young men and women; and help they grow into responsible citizens through Islamic and academic educational guidance and financial assistance.

- To promote creative thinking
- To inspire and promote excellence in education
- To Build a better future for individuals, our state, our nation and our world.

OBJECTIVES:

- To provide Grass-root Educational and **Infrastructure** Facilities such as Hostel, Library and Computer Education.
- To **Provide Encouragement** and economic assistance to the needy students of community who possess outstanding academic achievement. (The Idea Behind providing such help is to prepare them for competitive examinations such as I.A.S., I.P.S., I.C.W.A., C.S., C.A., M.B.A. etc.)
- To disseminate various educational information and to carry out guidance and counseling activities.
- Proliferation of such activities for all-round development among students.
- To conduct in-service training programmes for primary and secondary teachers so that they can update their knowledge and improve upon to their teaching methods and techniques.
- To bring about a renaissance of education in our community.

Contents

Sr. No.	INDEX	Page
		No.
1	Mission Statement - Objectives	1
2	President Report	3-4
3	Summary of Activities	5-
4	Prize Distribution	
5	Adoption Scheme	
6	Elocution Competitions	
7	Gujarat Government Scholarship Exam	
8	Telent search Exam	
9	Vacation Coaching Class	
10	DINI Talim	
11	Hostel Facilities	
12	Medical Help	
13	Our Future Plans	15
14	Our Gratitudes	16
15	Photo Gallery	17
16	Bank Details	18
17	Budget	19
18	Audit Report	20-
19		
20		

From the President's Desk

(PHOTO of President)

Dear Patrons and Readers,

Assalamu Alaykum

Welcome to the PMET **2010-11,2011-12** Annual **Report.** It is our utmost pleasure to inform you that the current year 2012 marks the 26th Anniversary of PMET's efforts to minimize backwardness in the field of education of Muslims in Gujarat. PMET was established with a view to **considering** education is **the only solution of myriad problems Muslims face.** With a very limited fund and resources, we started making efforts to encourage Muslim community to educate their sons and daughters.

Alhamdulillah, **efforts were paid back** and as a result, a considerable awareness and importance of education arose in the community. Now we see a **difference**. Graduates, **post graduates**, **doctors**, **engineers** and **percentage of female education increased**. Though there is much more to be done as Sachar Commission report shows.

From the beginning, we emphasized on qualitative education and **to prepare** the youth to stand in the same line with the main stream in the job market. We started different programs like **eloquence competitions** for primary students, drama competitions for high school students, educational guidance, prize distribution for the outstanding achievers, encouragement and material provided for the preparation of government scholarships.

With the great support of Munshi Family of Manubar, we were able to build a hostel in Surat to provide lodging and boarding facility for the students who come to Surat for higher education. It was also the aim to provide Islamic atmosphere to our students under one roof during the most important phase of their life to shape their character. Their life is shaped under the supervision of the team of young trustees. Students are encouraged to form the habit of reading the Qur'an after fajr prayer and to develop other Islamic habits in the light of the Qur'an and hadith. The founders envision honest, integrated, highly skilled future leaders with good moral character.

During past 26 years, we helped **several thousand boys and girls** under total and partial adoption schemes to finish their education. Still much more is to be done. Millions of Muslim families are struggling to provide better education to their children

as they are living under poverty line. Figures and facts disclosed in the Sachar Commission Report are eye opening about Muslims' condition in the field of education after 60 years of Independence.

Since last two years PMET launched a new program of adopting students for Chartered Accountancy Program. Students interested in the program are selected on merit and means. Entrance Test is given to decide the merit. Selected boys have to stay in PMET hostel and are totally adopted. Due to limited means, logistics and other considerations, PMET is currently adopting girls staying in Surat city for C.A. program. With the grace of Allah and hardworking of boys and girls the C.P.T (1st stage of C.A.) was astonishing. PMET achieved 75% result compared to 25% all India result.

We also make efforts to launch IAS COACHING PROGRAM to prepare students for the administrative fields of state and union governments. We face a great task to find suitable candidates for the program. We have decided **to saw** the seeds from the primary level under the guidance of Habib Badi (retired IAS).

Career Awareness Related Experience Program (CARE) was implemented to help students to gain experience in their field of career with little monetary help.

PMET got the letter of approval from State of Gujarat for a Public Library.

Finally I thank you for your unmatched generosity for the last 26 years. Whatever PMET has achieved, in the field of education, could not have been possible without your support. I appeal to continue to support the noble cause of education to uplift the Muslim community.

Sincerly,

Hifzurrehman Patel President Progressive Muslim Education Trust, Gujarat

SCHOLARSHIP FOR HIGHER EDUCATION

Under adoption scheme of our trust, students belonging to poor economic background and wishing to complete Degree, Diploma and Post graduation courses, are given financial assistance so that they can pursue their educational aspirations. We are happy to inform you that 3265 large number of students took the advantage of this scheme and earned their degrees in different fields of education. We would like to thank our well wishers and donors for extending their generous hands to support this scheme.

	Scholarship Distribution 2010-11							
No.	Course	No. of Student	Total Amount		No.	Course	No. of Student	Total Amount
1	M.B.B.S.	1	4000		12	M.A.	5	22000
2	B.H.M.S.	13	75000		13	B.E.	42	189000
3	B.D.S.	21	95000		14	B. Pharm	54	249000
4	B.P.T.	5	27000		15	B.Ed.	2	10500
5	C.A.	6	18000		16	B.C.A.	8	41000
6	M.B.A.	2	7000		17	B.B.A.	7	27000
7	M.Phil	1	9000		18	B.Sc./ Nursing	15	71500
8	M. Physio. T.	1	3000		19	Diploma	22	95000
9	M.Pharm	1	3000		20	12th Sci.	18	70500
10	M.Sc.	6	22000		21	11th Sci.	32	122500
11	M.Com	3	6500			Total	265	1167500

	Progressive Muslim Education Trust Rander											
				S	cholars	hi	ip 2	011-12	2			
Sr.			No of		Total		Sr.			No of		Total
No.	(Course	Stu.	Amount	Amount		No.	Cour	·se	Stu.	Amount	Amount
1	M	I.B.B.S.	4	6000	24,000		12	M.Com		2	2500	5,000
2	В	.H.M.S.	6	5000	30,000		13	M.A.		1	2500	2,500
3	В	.D.S.	12	5000	60,000		14	B.E.		31	4000	124,000
4	_	.P.T.	1	4000	4,000		15	B. Pharm	-	19	4000	76,000
5	-	.A.	2	4500	9,000		16	B.Ed.		2	2500	5,000
6	-	. Pharm	4	4000	16,000		17	B.C.A.		3	2500	7,500
7	-	l.Sc.	4	4000	16,000		18	B.B.A.		4	2500	10,000
8	+	[. P.T.	1	4000	4,000		19	B.Sc./ Nu	ırsing	9	2500	22,500
9	+	I.E.	2	4000	8,000		20	Diploma		19	2500	47,500
10	_	I.C.A.	1	4000	4,000		21	12th Sci.		14	4000	56,000
11						11th Sci.		24	4000	96,000		
					Total:							639,000
					Fully A	\d	opte	ed Stud	ents		1	
	1	C.A. Fin	al Boy	S				2		72,20	0	144,400
	2	C.A. Fin	al Girls	5				1		59,60	0	59,600
	3	C.A. I.P.	C.C. (Bo	oys)				8	69,450		555,600	
	4	C.A. I.P.	C.C. (Gi	rls)				5	56,850		284,250	
	5	C.A. C.P	P.T.					5	49,450		247,250	
	6	M.Sc. Bi	otech					1		92,22	0	92,220
	7	B.E. Civ	il Eng.					1		23,20	0	23,200
		Total 2						23				1,406,520
					Spons	0	red	Stude	ents	3		
	1	Muahhm	ed Musa	and Ibrahi	m Musa La	t M	emor	ial 2		25,00	0	50,000
	2	Faisal Pa						1		25,00	0	25,000
	3	Dr. Tarik	Akbar l	J.S. & G u	lam Lehri			1		100,00	0	100,000
	4 Ali Adam Charitable Trust				5	C.A.	Studen	ts	143,000			
		Total 3						9				318,000
	Total 1+2+3 200 2,363,5							2,363,520				

PRIZE DISTRIBUTION FUNCTION

Every year the prize distribution function is held to felicitate and honour the talented students who make outstanding performance at various levels of examinations. The purpose of this activity is to inspire and encourage the students for higher education and higher achievements. At the same time the talented students studying in engineering, various branches of medicine like M.B.B.S., Pharmacy, Physiotherapy, B.D.S., B.H.M.S., B.A.M.S., D.H.M.S., and B. Ed., M.B.A., M.C.A. etc. are also awarded with Scholarships. The detail is given in a tabular form.

2010-11

Sr. No.	Course	No. of Students	Amount
1	M.B.B.S.	1	1500
2	B.Pharm	4	3900
3	B.Ed.	6	7700
4	M.Com	1	1500
5	Diploma	5	7000
6	B.A.	2	2500
7	P.T.C.	6	5300
8	12th Gen.	5	4600
9	12th Sci.	8	6700
10	S.S.C.	13	10200
	Science	5	3200
	Mathematics	12	6700
	English	15	11100
	Total	83	71900

2011-12

Sr. No.	Course	No. of Students	Amount
1	B.E.	1	2000
2	B.Pharm	4	6500
3	B.Ed.	4	8000
4	M.A.	3	4500
5	Diploma	2	4000
6	B.Sc.	1	2000
7	P.T.C.	3	4500
8	12th Gen.	6	7500
9	12th Sci.	5	6500
10	S.S.C.	15	16500
	Science	4	4900
	Mathematics	11	12600
	English	3	3700
	Total	62	83200

ADOPTION SCHEME

It is impossible for our community to compensate the loss resulting from the paucity of doctors and engineers. This scheme has been implemented for about the last twenty years. We have made the modest attempt in the direction of providing the bunch of doctors, engineers and pharmacists. We are happy to let you know that many such students have settled and progressed well in their fields after getting degrees. They are the big assets of our community.

	2010-11, 2011-12					
No.	Student Name	Village	Course			
1	Patel Imran Usman Gani	Bhadkodara/Rander	C.A.(Final)			
2	Gheewala Faruq Yusuf	Navetha/Rander	C.A.(Final)			
3	Patel Irfan Mohammed	Amod/Rander	C.A. (I.P.C.C.)			
4	Mansuri Adil Gulam	Nabipur	C.A. (I.P.C.C.)			
5	Bhopa Minhaj Najirahmed	Matar	C.A. (I.P.C.C.)			
6	Patel Azizahmed Abudllah	Bhadkodara/ Surat	C.A. (I.P.C.C.)			
7	Patel M. Nashir Gulam	Karmali	C.A. (C.P.T.)			
8	Alad Furkan Irfanbhai	Majadar	C.A. (I.P.C.C.)			
9	Dalal M. Ramiz M.Hanif	Prantij	C.A. (C.P.T.)			
10	Patel Salman Vali	Sitpon/ Surat	C.A. (I.P.C.C.)			
11	Patel Aslam Daud	Bhesli	C.A. (I.P.C.C.)			
12	Ghanchi M. Suhel A. Rahim	Dhorka	C.A. (I.P.C.C.)			
13	Goga Aziz Gafar	Valan	C.A. (C.P.T.)			
14	Choadhry Bashirahmed	Palanpur	C.A. (I.P.C.C.)			
15	Ghasura Zahir Afzal	Juna Disa	C.A. (C.P.T.)			
16	Shaikh M. Asfaq M. Hanif	Surat	C.A. (C.P.T.)			
17	Vohra M. Vasim Rauf	Dhorka	C.A. (C.P.T.)			
18	Tankariwala Imran Abbas	Sarod	C.A. (C.P.T.)			
19	Patel Imran Iqbal	Kavi/ Ahmadabad	C.A. (C.P.T.)			
20	Patel Rubina Shabbir	Machhasra/Rander	C.A. Final			
21	Patel Fatema Faruk	Khanpur/Rander	C.A. (I.P.C.C.)			
22	Patel Tasnim Faruk	Khanpur/Rander	C.A. (I.P.C.C.)			
23	Raje Safiya Yakub	Kavi / Rander	C.A. (I.P.C.C.)			
24	Patel Asma Ahmed	Vahalu / Rander	C.A. (I.P.C.C.)			
25	Patel Shehnaz Shadik	Bhadkodara/Surat	C.A. (I.P.C.C.)			
26	Shaikh Soin Sahbuddin	Vapi	M.Sc. Bio. Tech			
27	Saiyed Manjuralam M.	Sanjali	B.E. Civil 1st			
28	Hasam Maaz Mustak	Chikhli	Std. 10 th			

AT A GLANCE (ADOPTED STUDENTS)

Year 2010-11

Course	No. of Student
C.A. Final	1
C.A. (IPCC)	3
C.A. (CPT)	17
B.E. Civil	1
M.Sc. Bio Tech.	1
Std. 11 th Sci.	1
Total	24

Year 2011-12

Course	No. of Student
C.A. Final	3
C.A. (IPCC)	13
C.A. (CPT)	5
B.E. Civil	1
M. Sc. Bio Tech.	1
Total	23

Total Expenses of this adoption scheme is IRS. 14,06,520/- per year.

C. A. ADOPTION PROJECT;

Our survey revealed that Muslim Students in commerce branch were less interested in the challenging field of Chartered Accountancy. There are greater opportunities at the national and international job market. To be qualified as a C.A., one has to work hard and stand out at a national level. The result of the board is also usually 15% to 20% range. Our students were not prepared to face the challenge.

The PMET BOARD OF TRUSTEES decided to motivate and encourage our students to take up challenges in the field. We launched C. A. Adoption Scheme. Under the scheme, we invite applications from students who have secured 70% or more at the 12th Commerce, Gujarat Higher Secondary Board Exam. For the selection of adoption, we give them the Qualifying Test prepared by the experts in the field. The Qualifying Test is administered at Palanpur and Rander centers under the direct supervision of the trustees. Those who are qualified in merit and means are offered total adoption scheme. They are provided free lodging, boarding, coaching and tuition fee and other educational expenses. The total average expense per student per year is IRS 65000/-.

At present 15 students (boys) have been adopted for the program and they stay in the hostel and striving to be C. A. As we do not have the separate residential facility for girls, the board has decided to adopt the girls who live in Surat as pilot project for girls. At present 6 girls students have been adopted. They are given total educational expense. The total average expense per girl student per year is IRS. 45000/-.

PMET is thankful **Jay Chhaira** Coaching Center for being so generous to our request of concession in fees to students sponsored by PMET. Our students get almost 40% to 45% discount in fees. This helps us a lot as currently there are 22 students (boys and girls) get coaching at Jay Chhaira Coaching Center which is one of the best coaching **center** in Surat.

Jay Chhaira is also helpful to us in placing our students in good Chartered Accountant firms for the **three year article ship** (audit and taxation training) which is mandatory.

PMET is also thankful to Dawood Azad Saheb of UK who has adopted 5 CA students through Ali Adam Charitable Trust.

Bombay Patel Welfare Society "BPWS" is at the forefront, since the inception, and always helps PMET materially and morally. BPWS attributes funds to meet coaching expenses for CA students.

PMET adopted students results of last two years was much higher than the national average or city average. National CPT result for 2010 was 24% compared to PMET result 75%. The credit goes to hard work of students and right type of study environment they get at PMET premises.

CA being a national level examination and all subjects being in English; we have arranges special classes to improve the language skill of students who are mostly coming from Gujarati medium and need lot of training to adopt to new system.

We appeal to the well wishers and donors to adopt talented and needy students from your area and send them to the PMET to build their career. It will be a great service to the community, society and nation. Extend your generous hands to the PMET to make the project a great success.

ELOCUTION COMPETITION FOR PRIMARY SECTION Sponsored by Dilavar Vali Patel Dashanwala (Bolton, U.K.)

Every year elocution competitions for the students of Std. 5, 6 and 7 are organized at various places. The aim of the competition is to bring out hidden talents in students. It also aims at developing oratory skills and eradicating stage fear from them. It has been a noticeable increase in the number of participants. In order to accommodate the increasing number of participants, these competitions are organized in four zones namely Bharuch, Palej, Amod and Jambusar. Every year about one hundred thirty students take part in this competition. Every participant is given a consolation prize (School Bag) and those who are qualified for the final competition and the winners at district level competition are honoured with much coverted prizes.

At this point we take the opportunity to thank the teachers who took great pain and put hard work and great efforts to prepare the students.

The Subjects of the Zone Level Competition-2010-11 were.

- રોગને તાબે કરશો કે રોગને તાબે થશો

- વિજ્ઞાનઃ જીવનને સુખમય બનાવવાનું સાધન

- કુદરતી શક્તિ સામે માનવી વામણો

BHARUCH ZONE: Venue: Primary Boys' School, Manubar Date: 02/10/2010

PALEJ ZONE: Venue: Primary School, Hingalla Date: 02/10/2010

AMOD ZONE: Venue: Primary School Bachcho ka Ghar, Vagra Date: 03/10/2010

JAMBUSAR ZONE: Venue: Adarsh Primary School, Jambusar Date: 03/10/2010

District Level Final Competition

Those who were the winners at the zone levels were qualified to participate at the district level.

Date: 17/10/2010 on Sunday Venue: Munshi Vidhyadham, Bharuch

No.	Name	Subject	School Name	
1	Patel Samir Arif		Haji Vali Bapu Dashanwala School, Bharuch	I
2	Patel Tasnim Khalid	આજે પ્રશ્ન એક રોટલાનો મોટો છે	Jamiah Primary School, Jambusar	II
3	Patel Mehfuz Vali		Haji Vali Bapu Dashanwala School, Bharuch	III

The Subjects of the Zone Level Competition-2011-12:

- આઝાદી પ્રાપ્તિમાં મુસ્લિમોનો ફાળો

- ઇન્ટરનેટ : વિશ્વજ્ઞાન પ્રાપ્તિનું સુલભ સાધન

- શિક્ષણ : માહિતી પ્રધાન નહીં, સંસ્કાર પ્રદાન હોવું જોઇએ

BHARUCH ZONE: Venue: Primary Girls' School, Karmad Date: 11/11/2011

PALEJ ZONE: Venue: Primary Boys' School, Tankaria Date: 11/11/2011

AMOD ZONE: Venue: Mehfuza Z. Hakim Memo. High School, Amod Date: 11/11/2011

JAMBUSAR ZONE: Venue: The Popular High School, Devla Date: 11/11/2011

District Level Final Competition

Those who were the winners at the zone levels were qualified for District Level Competition. Mr. Gulam Husain Zaz presided over the function.

Date : 25/12/2011 on Sunday Venue: Lions Club Hall, Falshruti Nagar, Bharuch

No.	Name	Subject	School Name	Rank
1	Rethda Naqib Salim		Primary Boys' School, Tankaria	I
2	Munshi Yamina Imran	શું ભ્રષ્ટાચાર એજ શિષ્ટાચાર?	Jamiah Primary School, Jambusar	II
3	Gadiyari Nashrin Yunus		Dakri Memorial Primary Girls' School, Valan	III

SEMINAR FOR THE PRINCIPALS: (JUNE 8, 2011)

In this age of competitions in every field, small and big companies and organizations train their employees, officials and workers through modern techniques and devices available for management. At this juncture, in the field of education, too, it is important to understand our students better, we take advantage of modern techniques to develop and sharpen the managerial skills of our principals, PMET organized a seminar at Munshi Complex, Bharuch. Kiran Gandhi, (Moral Re-Armament) a famous trainer in the field of management, and his team was invited for the seminar. Dr. Fatima Rashid, a famous Student Counselor from National Group of Schools, Mumbai provided very useful tips to understand our students and their problems. She offered that she is ready to provide her services to train teachers for Student Counseling. The Seminar was open (without any charge) for all the Principals of high schools of Gujarat.

GUJARAT GOVERNMENT SCHOLARSHIP EXAM

To prepare more talented students from our community "we catch them young", we prepare students for Gujarat-state Government Scholarship providing them with Literature and guidance for it. To encourage them we award each successful student IRs. 100/- as consolation scholarship

	PROGRESSIVE MUSLIM EDUCATION TRUST, GUJARAT						
	Primary Scholarship 2010-11						
No.	School Name Bharuch Zone	No. of Student	Amount Per Student	Total Amount			
1	V.C.T. Primary Girls' School, Bharuch	7	100	700			
2	Dashanwala Primary School, Bharuch	10	100	1000			
3	Primary Boys' School, Kantharia	9	100	900			
4	Primary Boys' School, Manubar	7	100	700			
5	Primary School, Vahalu	9	100	900			
6	Parimary Girls' School, Karmad	2	100	200			
	Palej Zone	•					
1	Primary School, Makan	4	100	400			
2	Buniyadi Primary School, Paguthan	12	100	1200			
3	Primary Girls' School, Sitpon	8	100	800			
4	Primary Girls' School, Nabipur	7	100	700			
5	Dakri Memorial Primary Girls' School, Valan	15	100	1500			
6	Group Primary Girls' School, Sansrod	12	100	1200			
7	Primary Boys' School, Valan	20	100	2000			
8	Adarsh Primary School, Kamboli	10	100	1000			
	Amod Zone		1	1			
1	Primary Girls' School, Achhod	20	100	1000			
2	Primary Boys' School, Achhod	19	100	2600			
3	Amod Main Boys' School, Amod	4	100	300			
4	Amod Main Girls' School, Amod	6	100	400			
5	Taluka Panchayat Primary School No. 1, Amod	10	100	400			
	Jambusar Zone	1 10	l	<u>I</u>			
1	Primary Girls' School, Sarod	12	100	1200			
2	Adarsh Buniyadi Boys' Primary School, Sarod	5	100	500			
	Total	236	100	20800			

PROGRESSIVE MUSLIM EDUCATION TRUST, GUJARAT								
Primary Scholarship 2011-12								
No.	School Name	No. of Student	Amount Per Student	Total Amount				
Bharuch Zone								
1	V.C.T. Primary Girls' School, Bharuch	11	100	1100				
2	Dashanwala Primary School, Bharuch	8	100	800				
3	Primary Boys' School, Karmad	6	100	600				
4	Primary Girls' School, Karmad	4	100	400				
Palej Zone								
1	Adarsh Primary School, Kamboli	10	100	1000				
2	Dakri Memorial Primary Girls' School, Valan	26	100	2600				
3	Primary Boys' School, Valans	25	100	2500				
4	Primary Boys' School, Tankaria	11	100	1100				
5	Primary Girls' School, Tankaria	9	100	900				
6	Primary Girls' School, Sitpon	9	100	900				
7	Primary School, Kothi	9	100	900				
8	Group Primary Girls' School, Sansrod	8	100	800				
9	Group Primary Boys' School, Sansrod	6	100	600				
10	Primary Girls' School, Nabipur	11	100	1100				
11	Buniyadi Primary School, Paguthan	10	100	1000				
Amod Zone								
1	Primary Girls' School, Vorasamni	10	100	1000				
2	Primary Girls' School, Achhod	26	100	2600				
3	Amod Main Boys' School, Amod	3	100	300				
4	Amod Main Girls' School, Amod	4	100	400				
Jambusar Zone								
1	Primary Girls' School, Sarod	2	100	200				
2	Adarsh Primary School, Jambusar	6	100	600				
3	Primary Boys' School, Devla	7	100	700				
4	Primary Girls' School, Devla	2	100	200				
5	Navi Vasahat Primary School, Kavi	13	100	1300				
	Total	236	100	23600				

DEENI TA'LIM

Along with academic education we made a provision for DEENI TA'LIM to preserve Islamic culture among the students. To make them understand the importance of Salah, Ibadath, Husne Akkhlaq and other virtues we have appointed an experienced a'leem who teaches them Qur'an, Namaz and Necessary Basic Islamic education. The class in under the supervision of Darul Uloom Kantharia, Bharuch. The students offer five times Namaz punctually. During Ramadan taraweeh is also performed. Thus the students are provided Islamic atmosphere.

MANUBARWALA HAJI DAWOOD MUNSHI MEMORIAL HOSTEL FACILITY

Since 1992 the trust runs and manages the hostel facility for the students who come to Surat City for their education. The total hostel accommodates 50 students.

The selected-adopted students and all students selected on merit bases for the C.A. Program are given free lodging and boarding facility in the hostel. Other students are provided services of lodging and boarding at very subsidized rates. The trust bears the loss of about more than IRs. 300,000/- per year in hostel expenses.

The unique feature of the hostel facility is individual attention to every student about their progress in academic field and care is taken to cultivate Islamic character. Teaching of the Qur'an and other necessary Islamic education is given by a qualified Aalim after Maghrib salah every day. Congregational prayers are done in the hostel mussallah which is compulsory for every student to attend who are present in the hostel at the time. Occasional talks to guide the students are arranged by educationists and experts in different fields. The total development of every student is the mission of the trustees.

To inculcate discipline among boarders, they are not allowed to keep any electronic devices i.e. Mobile phone, laptop, I-pad etc. in their rooms. They may use such devices in hostel Computer Room or Library.

Special coaching classes are conducted to improve English language. Students have access to Computer facility in the hostel presmises. Recently the Govt. of Gujarat has granted a Library facility in PMET premises. This will give ample opportunity to boarders to have access to variety of reading material. Currently PMET can't accommodate more than 50 students in the hostel and there is a good demand from all over Gujarat. We are looking for bigger premises with a capacity of accommodating more than 150 students. Make Duaa that the project is realized in the greater interest of the community.

Effective Living and Leadership for Educators at MRA, Panchgani

Progressive Muslim Education Trust has taken a revolutionary initiative by sponsoring 4 educators from Bharuch district at "Educators conference" known as effective Living and Leadership for educators at Moral Rearmament Center Panchgani, Maharashtra. The conference was from 08-05-2012 to 12-05-2012 for five days.

The 4 educators

- (1) Mr. Patel Jahangir Ismail (Principal, The Nabipur Sarvajanik High School, Nabipur)
- (2) Mr. Patel Sajid Yakub (English Teacher, The Sarvodaya High School, Valan)
- (3) Mr. Shakil Ahmed A. Somara (English Teache,r Kamboli Madhyamik Shala, Kamboli.)
- (4) Mr. Aiyub Valibhai Patel (English Teacher, The Machhasra High School, Machhasra)
- (5) Mr. Jabir Choksi (P.M.E.T. Representative)

The main purpose of this conference is developing high moral qualities & professional ethics. About 100 educators from the nation were collected and they were guided by highly qualified & professional faculties form different specialized field. According to the opinion given by the 4 educators they are greatly benifited through this conference. This is just a beginning of a revolutionary step by which P.M.E.T. wants to develop good leadership qualifies with high morals & ethics in our community.

UPSC/GPSC EXAMS

From the very day of its establishment, the PMET has strived for the competitive and qualitative education. The Muslims' poor representation in the very important field of administrative and allied services at the centre and state level is the matter of great concern. The trust decided to bring awareness in the community and to encourage our youth to make efforts in that direction. With this purpose, the trust organized a seminar while founder trustees Muhammad Patel and Yusuf Lat were on their visit to India.

The director of IAS and Allied Services Coaching and Guidance Cell of Hajj Committee of India, Mr. Prof. S.A.M. Hashmi and Mr. Habib Badi (retired IAS Officer) were invited

as key-note speakers and resource persons. Principals and teachers of High Schools and Primary Schools, educationists and well wishers of PMET took part in the seminar. Mr. Hashmi gave a detailed explanation of the system and syllabus of the UPSC EXAM and assured that it's not as difficult as it is considered. Only systematic study and devotion of time can bring positive results and gave the examples of successful Muslim candidates. He also gave an overview of the selection procedure and facilities provided by the Cell of Hajj Committee of India at Bombay and assured for their full support to the PMET. Mr. Habib Badi explained in his talk to bring awareness among our youth, we should sow a seed in the minds of our students from very early stage. He suggested that guidance programs should be held for the students of 9th and 10th grades and encourage them to form the habit of extensive reading and making the use of libraries.

As a follow of work, we organized two sessions of guidance programs for those grades' students. One at Piperdiwala English Medium School, Rander, on 18/12/2011 in which students from various Muslim Schools participated. The second one was held at M.A.I. High School of Kholwad, on 22/12/2011 in which students from Muslim schools of the area participated. InshaAllah, in coming days, such more guidance programs will be held in Bharuch District. Much work is to be done in this field. Make duaa that May Allah (SWT) give us strength to make sincere efforts in the direction to do follow up work from time to time. Well wishers and donors are requested to make the Project successful.

Mawlana Fazlur Rahim - a Vice Chancellor of Jamia Al Hidaya, Jaipur, was a chief guest for PMET's 2010-2011 annual programme. Under the leadership of Mawlana Fazlur Rehim Civil Services coaching classes are conducted at Delhi. He has also assured us to adopt some students proposed by PMET for UPSC examination.

We sent twice around 15 candidates to Hajj house for the selection. One was selected after succeeding in various tests; unfortunately he changed his mind and did not avail the opportunity;

Dawood Azad of UK has promised to adopt 5 candidates for Civil Services examinations. However, as we did not find any candidate so far Mr. Azad was kind enough to contribute funds for Chartered Accountancy project.

Medical Assistance Programme for the poor and the needy

As you know medicines and medical services are very expensive and many common people cannot afford the necessary medical services or life saving medicines. The board of the PMET has decided to sanction IRs. 2,00,000/- per year for this program. Under this program, vouchers are issued to buy the prescribed medicines from the medical store. Full or parts of the in-patients bills are paid. We deposit the money with the Mulla and Lokhat Sarvajanik Hospital and Zainab Memorial Hospital for the purpose.

Dr. Yusuf U. Patel Administers this program. He issues the vouchers to buy the prescribed medicines or to pay in-patient hospital bills after checking the eligibility and the needs of the patients. We thank Dr. Yusuf U. Patel for his services and time.

The program is very essential for the poor and needy sick people. We appeal the donors to extend your generous hands to meet the growing demands for the program. Zaqat fund could be donated for the program.

OUR FUTURE PLANS

To meet the growing demands of computing skills in every kind of job, the Board had decided to develop a full computer facility. So we can train and help our students develop various computing skills at a lower cost to make them more marketable in the job market. It is the great need of the hour. By the grace of the all mighty Allah we fulfilled this necessity of the society by the help and support of our well wishers. The Computer Class was started with the duaa of learned and enthusiastic Aleem Moulana Gulam Mohd. Vastanvi on 9 April, 2007 at Manubarwala Hostel, Rander. The educated and reputed persons of the society and the officials of various trusts blessed the programme with there presence.

We are also planning to provide training to our students in personality development and mastering effective interview techniques with the help of the experts in these fields. We also aim at providing coaching for U.P.S.C., G.P.S.C. and other recruitment exams for unemployed graduates. To minimize unemployment in our youth we decided to guide and help average students to join short term technical courses so that they may have more job opportunities in various fields.

Progressive Muslim Public Library

Gujarat government has given the permission for the Public Library. The library situated in the hostel premises.

CARE

(Career Awareness Related Experience)

Under this programme, students who have completed their studies and are facing problems finding jobs are placed in working environments of their respective fields to gain work related experience. During such training they get monthly allowance (stipend), free lodging and boarding from the trust.

MUHAMMED MUSA LAT AND IBRAHIM MUSA LAT MEMORIAL SCHOLARSHIP

Managed By

Progressive Muslim Education Trust, Gujarat

On behalf of Lat Family, Ismail Lat declares the scholarship of IRs. 50,000/- per year in the memory of Mohammed Musa Lat and Ibrahim Musa Lat. May Allah forgive them and place them in jannatul firdous and reward the family in both the worlds. Ameen.

The Scholarship has been started from the academic year 2006-07. The scholarship is being distributed to one or two bright, poor and needy students who want to pursue Medical, Journalism, C.A., M.B.A., and P.G. in Management, Engineering or other challenging fields of education.

The selected student/s is awarded with the scholarship till he/she completes his/her education provided he/she maintains satisfactory progress. The criterion of selection is means and merit. Volunteering in non-profit organizations or other extracurricular activities is given special weight in selection.

We thank and are grateful to Mr. Ismail Lat to give us the opportunity to administer the scholarship.

Alhamdulillah, Mr. Azaz Musa Patel (Mahudhla) (2006 to 2010) has finished his study and got his Degree in Bachelor of Computer Engineering with distinction and got a job with an American company in Ahmedabad.

Currently Shaikh Shehbaj M. Ishaq (Dholka) Studying in 1st M.B.B.S. at a B.J. Medical College, Asarwa, Ahmadabad and Patel Tasneem Abdulhaq (Sitpon) Studying in 1st M.B.B.S. at Surat Municipal Institute of Medical Education and Research, Umarwada, Surat, are selected for this scholarship.

FAISAL PATEL MEMORIAL SCHOLARSHIP Managed by

Progressive Muslim Education Trust, Gujarat

Muhammed Patel declares scholarship of IRs. 25,000/- per year in the memory of his beloved son Late Faisal Patel. May Allah forgive him and place him in Jannatul firdous. May Allah reward the family in duniyah wa aakhirah. Ameen

The Scholarship has been started from the academic year 2008-09. The scholarship is awarded to the poor and needy student who wants to pursue medical, Engineering or Pharmacy fields of Education.

The selected student is awarded with the scholarship till he/she completes his/her education. The criteria of selection will be means and merit. Volunteering in non-profit organizations or extracurricular activities is given special weight in selection.

We thank and are grateful to Mr. Muhammed Patel for giving us the opportunity to administer the Scholarship.

Tasneem Mohammed Hanif Patel was selected for this Scholarship for the period 2008-2011. Studying in Bachelor of Dental Surgery in MCES's M.A. Rangoonwala College of Dental Science & Research Centre, Pune.

Currently Patel Salman Gulammohammad (Devla) Studying in 1st B.Pharm at a Ali-Allana College of Pharmacy, Akkalkuwa.

OUR GRATITUDES

We express our hearty thanks to our well wishers and generous donors in the U.K., U.S.A., CANADA, Saudi Arabia, as well as in India without whose help we would not be able to carry out our activities successfully. We also thank Dr. Zubeda Desai (Ahemadabad). We also thank late Mehrunnisha, Gujarat Masturat Seva Trust, Ahemadabad.

We express our thanks to the daily newspaper editorial boards and owners of Gujarat Mitra, Gujarat Today, Gujarat Samachar, Sandesh, Divyabhaskar and the weekly Ummeed for giving due space and reporting the activities in detail in their esteemed newspapers.

We thank the institutions and the individuals who helped us. We also thank the managements and the teachers of secondary and primary schools as well as the head masters for their Co-operation and valuable services to carry out our activities very successfully.

We extend our thanks to well wishers of U.K.

Hafiz Ahmed Patel	(Dashanwala)	Yakub Bajibhai (Karmad)		
Ibrahimbhai Saleh	(Samni)	Yakubbhai Bhuta	(Tanakṛia)	
Mohammedbhai Jarman	(Valan)	Firoz Ahmed Patel	(Dashan)	
Ibrahimbhai Kadva	(Sherpura)	Sheth Ilyas and Brother's (Ikhar)		
Shabbirbhai Kaviwala	(Kavi)	Dr Sarfaraz Patel	(Chanchvel)	
Ishaqbhai Jarman	(Valan)	Mustaq Tailor	(Kahan)	
Habib Brothers (Kan	tharia)	Ilyas V. Patel	(Sitpon)	
Abdulbhai Artist (Mar	iubar)	Arif Daud Patel	(Tham)	
Muhammed Yusuf Hafeji	Desai	Babubhai Kakuji	(Amod)	
Sheth Yunus & Family	(Ikhar)	Dr. Tahir Majeed		
Dawood Azad (Vord	ıSamni)	Adambhai Jeewa		
Mustaqbhai Desai		Saeedbhai Chuniya		

We extend our thanks to well wishers of Jeddah

Sufiyan Gulam Shabbir A. Achhodi

Uves Yunus Hassan Mahammed

Ismail Tutla Farid/Rafique Vasaiwala

Yunus Biradar Mohammed Ali Sarodi

We Extend our thanks to

Muslim Community of U.K.

GUJARAT MUSLIM ASSOCIATION OF AMERICA

Chicago, U.S.A.,

MUSLIM COMMUNITY ASSOCIATION

Of San Francisco

Bay area, Santa Clara, U.S.A.

And

SCARBOROUGH MUSLIM ASSOCIATION

CANADA.

Muslim Community of Columbia, Missouri, U.S.A. Patel Brothers of Chicago, IL, U.S.A.

And

Daubhil Muslim Society Bolton, U. K.

Muslim Brothers of Jeddah and Saudi Arabia

Jazakumullah.....

PMET

Contact Details



Website: www.pmet.org

Email contact: admin@pmet.org

pmedutrust@yahoo.co.uk

Telephone (Hostel): 0091 261 276 2685 Telephone (President: 0091 98 7906 6123 Telephone (Supervisor): 0091 96 8729 4402

Bank Details:

Overseas transfers: Bank of Baroda, Rander, 395005, Gujarat, India

A/C name: Progressive Muslim Education trust

F.C. A/C No. 0268 01 000 10880

Local transfers: Bank of Baroda, Rander, 395005, Gujarat, India

A/C name: Progressive Muslim Education trust

A/C No. 0268 01 000 03599

<u>Address:</u> Progressive Muslim Education Trust,

Manubarwala Hostel, Gulistan Nagar, Juna Jin Road.

Rander - 395005, Surat - Gujarat, India

BUDGET

APPLICATION of Funds	2012-13
Adoption Scheme expenses	1,035,600
Scholarship expenses	1,300,000
Primary Elocution+Scholarship Competetion expenses	75,000
Medical Help expenses	100,000
English language training	40,000
Annual/Other Function/5 seminars expenses	85,000
Library setup expenses	30,000
Municipal Taxes	4,000
Audit / Legal Fees	8,500
Hostel expenses	
Kitchen / Food expenses	460,000
Repairing/Renovation expenses	50,000
Electric Repairing expenses	10,000
Electric Bill expenses	95,000
Telephone bill expenses	20,000
Gas Bill expenses	40,000
Salary expenses	134,200
Other Misc. expenses	30,000
Miscellaneous Expenses	
Stationary expenses	5,000
Printing expenses	40,000
Postage expenses	15,000
Accounting Charges	3,000
Computer expenses	5,000
Bank Commission	5,500
COPA/CARE Prog expenses	10,000
Office expenses	25,000
TOTAL	3,625,800

While preparing PMET's annual report, kindly consider the following:

- 1) Details about various IAS programmes at Kholwad, Rander, PMET hostel etc;
- 2) Report about Dr. Fatima, Dr. Rashid and Kiran Ghndi's programme at Munshi, Broach, for management training to Head Masters and Trustees and views of participants;
- 3) Details about LSTE examination and PMET as a center and link to LSTE programme;
- 4) Detailed coverage about CA programme and support of Jay Chaira, Dawood Azad trust, BPWS help etc. including boys and girls doing articles with various C.A. firms;
- 5) Special coverage for various visitors to PMET premises and their views;
- 6) Medical study assistance to Miss Shaikh and details of other students adopted by various memorial trusts;
- 7) Selection of teachers for workshop training at Panchgani and details about the training;
- 8) Search for a bigger premises for a hostel in order to accommodate more students.
- 9) Coverage of speakers like Badi Saheb (IAS), Dr. Hasmi Saheb (Hajj committee IAS cell), Zaz Saheb, Bangla Wala, Yasmin Shaikh (IPS), Fazlur Rahim vice chancellor of Jamia Jaipoor, Mawlana Lat Saheb etc.
- 10) Visit of PMET students and trustees to Jamia Arabia, Zapabazar, Surat